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Acids & Bases Calculations Practice Worksheet

Directions: Solve the following pH calculations. Write the formula, plug numbers into formula, & give answer with
correct units

1. Ifthe pH of a solution is 10.3, what is the [H+] concentration?

(1] 0 = S0x10" M

2. Ifthe [H+]is 2.1 x 107'2 M HCIO4, what is the pH? Is the solution ACIDIC, BASIC, or NEUTRAL?

=
= - 2.\ ‘ ) = l |.7 .
?H \GO)( x\0 Basic
3. Calculate the pOH if the [OH-] concentration is 5.9 x 10~ M? Is the solution ACIDIC, BASIC, or

NEUTRAL? ‘
'PDH: —\oc) (5.‘1 x10~ \>: 25 -

[pH + pOH =14 14-.23 = 13.77|
4, What is the pH of a 0.033 M KOH solution?

POR= "103('035>: 1.5
o= 4-[5 = 1.5

5. What is the pH of an aqueous solution with a hydroxide ion concentration of 1.8 x 107> M?

POW = f\og(t.%x\0‘3)= 1.7
pR= -7 =13

6. What is the pH of an aqueous solution with a hydroxide ion concentration of 1.2 x 10 M?

\30\\= —\oob(I.ZX\O"’}; % .9
?H: e 54 =94,

7. What is the hydrogen ion concentration of a solution with a pH = 8.257
-%.25
‘\"]: 9 _ 11
@ 10 = 5.bx U

8. What is the pH of a 0.235 M Ba(OH)2 solution?

FO\-‘: —-[03(2)(.255>-_-_ ’?)5
o= M- % = (27
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9. Determine the concentration of [OH-] ions in an aqueous solution where the pH = 5.22.

pon=14-522 = .73

[OWX= 10787 = | 7,0 m

10. What is the hydroxide ion concentration in an aqueous solution with a hydrogen ion concentration of
2.70 x 1072 M?

T T
D POh= W — |.b = 12.4
®N1= 107 = 29810730

11. Calculate the pH of a solution that is 0.147M HCI?
?\—\ ~ \ 09 (.\ q—\v
= .35

12. Complete the table below. :
pH [H*] [OH] pOH Acid / Base

% I1x10°M leO—HW\ | A
w ‘X\D'VM 1x107*M 8’

o | II0 W 0 el B A
L A Ao I o &
9.y | 20w DGR Y Y &
9% L0y ssm |07 A
A

A\

’LJ’L 6.9x 10 M [(‘0\([0"/:/\ 10.€
73’] | "EHXlD‘:/\ 5.1x 107" M ‘0.5






